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Question 1

a) Find & for
dx

3x+5
® y=e X+
G y=xe'
2 2z :
b) Evaluate J.O e*dx  correctto 1 decimal place

—X

e
) Find the gradient of the tangent to flx)= e

at x=I

d b2
d) . Find Zx_ex and hence find the exact value of J.o xe” dx
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Question 2
a) Find @ for
dx

@) y = x*log,x
(ii) y= Iog2/3x——5

26
b) Evaluate J —dx as an exact value
e X

1)

NOT DRAWN TO SCALE

O
v
__

The section of the curve f(x) = e 2 betweenx =2 andx =5 shown

above is rotated about the x-axis. Find the volume enclosed.

d) Find the equation of the tangent to the curve y =4+ 3log, x

at the point where x =

Marks




Question 3 Marks

a) What is the exact value of sin% 1

b) Find the area shaded in the diagram below if 6 =2 3

c) (i) Sketchthe curve y=2sin2x for 0<x<27% 3

showing a clear scale on both axes.

(i) By graphing the line y = 1 on your diagram, show that the equation

2sin2x =1
has four solutions for 0<x <27 1
d) Differentiate:
@ y — 82 tan x R
@y y=sin’xcosx 3
@iy y =log,(cosx) 2

End of Paper




MATHEMATICS  pssEssMaErT TASK 3

2007
SOLUTIONS
Qn Solutions ) Marks Comments+Criteria
1, +5
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1)~ - () (42
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